
〈5〉, · mod 13: Z4:

· mod 13 1 5 12 8

1 50 51 52 53

5 51 52 53 50

12 52 53 50 51

8 53 50 51 52

+ mod 4 0 1 2 3

0 0 1 2 3

1 1 2 3 0

2 2 3 0 1

3 3 0 1 2

< R90 >: < a >, where a4 = 0

◦ R0 R90 R180 R270

R0 (R90)0 (R90)1 (R90)2 (R90)3

R90 (R90)1 (R90)2 (R90)3 (R90)0

R180 (R90)2 (R90)3 (R90)0 (R90)1

R270 (R90)3 (R90)0 (R90)1 (R90)2

∗ e a a2 a3

e a0 a1 a2 a3

a a1 a2 a3 a0

a2 a2 a3 a0 a1

a3 a3 a0 a1 a2
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1. Suppose that 〈a〉 is a cyclic group of order 6. Find all generators of
〈a〉.

2. Find all generators of Z6.

3. The Cayley table for U(14) is shown below.

U(14):

· mod 14 1 3 5 9 11 13

1 1 3 5 9 11 13

3 3 9 1 13 5 11

5 5 1 11 3 13 9

9 9 13 3 11 1 5

11 11 5 13 1 9 3

13 13 11 9 5 3 1

We saw on Wednesday that U(14) =< 3 >. Find all generators of
U(14).
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